Contador-down mod 16 assincrono
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Simulacao
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Saida tabular

10.0> 11= 0000

IC-UNICAMP 16.18> 11= 0001
17.167> 11= 0011 180.826>  01= 0111 == 7
19.239> 11= 0111 190.0> 11= 0111
20.0> 01= 0111 196.18> 11= 0110
20.826> 01= 1111 <=m F 200.0> 01= 0110 =™ 6
30.0> 11= 1111 210.0> 11= 0110
36.18> 11= 1110 &= g 216.18> 11= 0111 5
40.0> 01= 1110 217.167> 11= 0101 ==
50.0> 11= 1110 220.0> 01= 0101
56.18> 11= 1111 230.0> 11= 0101
57.167> 11= 1101 = p 236.18> 11= 0100 &= 4
60.0> 01= 1101 240.0> 01= 0100
70.0> 11= 1101 250.0> 11= 0100
76.18> 11= 1100 &= 256.18> 11= 0101
80.0> 01= 1100 257.167> 11= 0111
90.0> 11= 1100 259.239> 11= 0011 3
96.18> 11= 1101 260.0> 01= 0011 <==
97.167> 11= 1111 B 270.0> 11= 0011
99.239> 11= 1011 <= 276.18> 11= oo10 €= o
100.0> 01= 1011 280.0> 01= 0010
110.0> 11= 1011 290.0> 11= 0010
116.18> 11= 1010 &=, 296.18> 11= 0011 1
120.0> 01= 1010 297.167> 11= 0oo1 =
130.0> 11= 1010 300.0> 01= 0001
136.18> 11= 1011 310.0> 11= 0001
137.167>  11= 1001 &= 9 316.18>  11= 0oop &= O
140.0> 01= 1001 320.0> 01= 0000
150.0> 11= 1001 330.0> 11= 0000
156.18>  11= 1000 &= g 336.18>  11= 0001
160.0> 01= 1000 337.167> 11= 0011
170.0> 11= 1000 339.239> 11= 0111
176.18> 11= 1001 340.0> 01= 0111 =
177.167> 11= 1011 340.826> 01= 1111 &=
179.239> 11= 1111
180.0> 01= 1111

salvar simulacéo como .tbl e abrir com notepad



